7/5/23, 8:55 AM Purchase Request Check

PURCHASE REQUEST CHECK
APPROVAL

ITEM DESCRIPTION

. Download PDF! (https://iot.slci.co.id/download_PR/1021013588)

PGR Value

DBA 35,000,000

DBA 520,000,000

DBA 37,000,000

Approved by,

90005(Vorapong Panavasu)
Approved at 2023-07-04

PR Number :1021013588
Total Price :IDR 592,000,000
Attachment : Click here (https://iot slci.co.id/assets/lampiranpr/PR_1021013588.pdf)
Details PR
No. Item A Material Short Text Quantity Unit Delivery Plant Matl.Group
Date
1 10 F Feed End Head 1.000 ST 29.12,2023 PT Asset; AUC
Linings 16 SLCI
Rows/Set
2 20 F Shell Linings 24 1.000 ST 29.12 2023 PT Asset; AUC
Rows/Set SLCI
3 30 F Discharge End 1.000 ST 29.12.2023 PT Asset; AUC
Linings 16 SLCI
Rows/Set
Purpose:
[10] Project Replacement Rubber Lifter Ball Mill #3
[20] Project Replacement Rubber Lifter Ball Mill #3
[30] Project Replacement Rubber Lifter Ball Mill #3
GL: 910030
10: 201020000234
Dibuat Oleh, Checked by, Budget Control,
91709(Robby M) 90156(Mochamad 90696(Mukhtar L)
2023-07-03 16:02:55 Nugrahaputra) Approved at 2023-07-04
Approved at 2023-07-04 11:38:30

06:13:18

hitps:/fiot.slci.co.id/checkPR/1021013588

17:07:42

171



gi-835€0
0 A3y ‘Z00-h0rNid=d

o
N

“Ag adpapmcenyy|

Jadeueyy uciag
‘Ag 2Fpamauyy

fuluad g jo aapawe)

mw.ﬁmé_un_&_..uﬁ

TToT-Ti-0E =g

pauedang |

I0ANS Aoy POOS sneIRg PEU0] LS 0] J0u [ereiddy sunbay m

Aodouo)y .
LV=Th=r ]

g U0 | 30U 1SS0

081" Er9'8TdY = dvD

I
dygenty LA
(=]

aped Jsamo  uoseay

unyey § ueduig esey
BISAV0pY Blaswa Jyfiamns 998 1

- -
\I I\I
08t £18" L55dy Suemesey dog 000M0L 69594 duemesey dog DO00LT 5950y 1e10)
#5 " Hdd
%07 © Ndd
%5 MNE
0O"ST "0l “suny
Q00000 sy BUliPURH LOT| {osiaw) TH-EEZ850007-HX
0EBSEL LTY [wagixel fang BUBSOH BIUNEY 1d 10N ajoND seyipsads pelag
009" LE0'555dY 00'rhO'SES 00'wPOSES 0D0'0LT Eo5dy |60'E56"9ES 000'DL T 695dM 000'0LT 69598 s I E# I 1128 rauur J=qqny
aleq i fianzjag Wpd| WOl unowy a5N IUNowY g ¥ unowy | gsn lunowy 394id auwien Jauddng 2ajid
: aagddng I 03 UB3|IER "IN 03 WYRSSO, AN 05| e T Kuenp uopdusag
3P0 35 Bujamg 30 [0s339) euesOH ejunsey 14 20444 piepuels [ adud 52y
“““ e B s o apes | ]
et U Apens LA
ad9d ©N SaMIES D leusey mey ||




PT. KARUNIA HOSANA

Customer:
Attention :

Date of Proposal :
Quote Expiration :

Quotation No. :
M:O File Ref. ;
Your Ref. :

Delivery lead-time :

Incoterms :
Payment Terms :

PT SCG Lightweight Concrete

Pak Diki S

29 December 2022

This quote is valid for 30 days

KH- 400058239- R1

Fi34693 / IN947235

TBA

16 - 20 WEEKS

DDP PT 5CG Lightweight Concrete, on truck, unload by customer
50% down payment, and balance 50% before delivery

Kl’acking : Standard wooden pallets suitable for road transport

W

Dear Pak Diki,

Thank you for your interest in Metso Mill linings.

Our total price after discount and mass estimates to re-supply the Rubber Mill Lining for the
BM3: @2400 X 8160 mm is quoted below and includes estimated shipping costs. Please note
that the current environment for shipping is very volatile and lead times are not guaranteed.

Total Price = IDR 569.170.000,00
Total Lining Mass = 4,208.73 Kg

We are pleased to provide the following quotation on the next page. We hope this quotation is
of interest to you. Please do not hesitate to contact me if you have any questions or need more

information.

Thank you for your time and consideration.

Regards,

ot

. J\@runia]/bsana

Yossafat Sentosa, M.Sc.Eng
Business Development Manager

PT. Karunia Hosana

Phone: 0821-4379-0854

E-mail: Yossafat. Sentosa@gmail.com




CUSTOMER
REFERENCE:

PTSCG Lightweight Conerete
PR1318B2

FILE
QUOTE

KH-400058239-R1 -l

PT. KARUNIA HOSANA

- BM3: #2400 X 8160 mm, Rubber Mill linings & fixing

ITEM QUANTITY PART No.

UNIT SELL

TOTAL SELL

QUOTED BY
DATE

CURRENCY
LEAD TIME

QUOTE VALIDITY: This quote is valid for 30 days
PARTS LIST REF.: TBA
DISCLAIMER: Terms and Conditions

Unloss the subject of a spocific frame agreement with agreed terms and conditions or otherwise agreed in writing with PT Karunia Hoss

Hosana shall apply and this instrument is subject to such PT Karunia Hosana General Conditions.,

IDR 569.170.000,00

FEED END HEAD LININGS: 16 Rows IDR 32.890.000,00 219.6 Kg
1 16 Zx1 13«1391; RU-LIFTER DL-140-135-610-30/45-29 “ 11.0;9 176.0 Kg
2 17 MMO337987 | SCREW, HEXAGONAL 1S04017-M16X300-8.8-UNP 0.5Kg 7.7Kg
3 17 ZX11682439 | ML-CLAMPBLOCK M16X300-250 1.6 Kg 27.2Kg
4 17 ML-210940 | ML-CLAMPBLOCK TYPE-L-M16-100@ 0.4 Kg 6.0 Kg
5 34 ML-248003 | ML-SEALER 60/16-12 0.0 Kg 1.4 Kg
] 36 704203927160 | NUT,HEXAGONAL, TORQUEISO7040-M16-8-A3@ 0.0 Kg 1.4 Kg
SHELL LININGS - 24 Rows IDR 501.180.000,00 3,723.1Kg
7 72 ML-415697128 | RU-LIFTER DL-140-135-1800-30/45-29 325Kg | 23386 Kg
8 26 ML-413140129 | RU-LIFTER DL-140-135-1320-30/45-29 238Kg | 619.1Kg
g 22 ZX11360646 | RU-LIFTER DL-140-135-0960-30/42-29 16.4Kg | 3601 Kg
10 2 ZX11636164 | RU-LIFTER DL-140-135-650-30/45-29 M7Kg | 235Ky
11 2 T417531 129 | RU-LIFTER DL-140-135-805-30/45-29 14.0Kg | 28.0Kg
12 525 ING09507_3 | ML-RUBBER BUSHING 26/17-40 0.0 Kg 53Kg
13 525 31-261085 | SCREW, HEXAGONAL ISO4017-M16X100-8 8-UN@ 0.2 Kg 89.3 Kg
14 525 ML-210840 | ML-CLAMPBLOCK TYPE-L-M16-100@ 0.4 Kg 183.8 Kg
15 525 ML-251626 | ML-ANTISANDSEALER 52/12-15 0.0 Kg 53Kg
16 525 ML-248003 | ML-SEALER 60/16-12 0.0Kg 21.0Kg
17 555 704203927160 | NUT,HEXAGONAL, TORGUE ISO7040-M16-6-A3@ 0.0Kg 22.2 Kg
18 555 ML-200016 | ML-SPWASHER 45/18-3-UNPLTD@ 0.0 Kg 16.7 Kg
19 525 ML-406871 | ML-WASHPROTECTION TYPE-DKLR-90-57-50 0.0 Kg 10.5 Kg
DISCHARGE END HEAD - 16 Rows IDR 35.100,000,00 266.1 Kg
20 16 ZX11777474 | RU-LIFTER DL-140-135-740-30/45-29 135Kg | 216.0Kg
21 17 ZX11655866 | SCREW, HEXAGONAL IS04017-M16X550-8.8-A3A 0.3 Kg 56Kg
22 17 ZX11322104 | ML-CLAMPBLOCK M16x550/550 2.0Kg 34.0 Kg
23 34 704203027160 | NUT,HEXAGONAL, TORQUE ISO7040-M16-8-A3G@ 0.0 Kg 1.4 Kg
24 17 ML-210940 | ML-CLAMPBLOCK TYPE-L-M16-100@ 0.4 Kg 6.0 Kg
25 72 ML-408871 | ML-WASHPROTECTION TYPE-DKLR-90-57-50 0.0 Kg 1.4 Kg
26 34 ML-248003 | ML-SEALER 60/16-12 0.0Kg 1.4 Kg
IN409507_3 | ML-RUBUSHING 26/17-40 0.0 Kg 0.3 Kg

4,208.73 Kg

16-20 WEEKS

na, the applicable PT Karunia



Metso:outOtec ZZSTR[CTED

December 21, 2022

D

=

ischarge End Head Linings.

The Discharge end head lining is wear and the lifter bar needs to reversed and the Grate plate in good condition.

The ball Mill Must order for one set off lifter bar complete with the Feed End head Lifter bar and Shell Lifter bar &

Discharge Head Lifter bars rdered as s Possible.

We would highly recommend another inspection to be carried out during upcoming shut and date sent to us for
analysis, this will give us more data to accurately determine the change out dates.

If you have any questions or queries pertaining to any of the information within this report or require any further
details of information, please do not hesitate to contact us.

Prepared by Alvin Liu
Technical Support-Mill Linings,
Alvin.liu@mogroup.com.



) QUOTATION

Company Address: PT. SCG Lightweight Concrete

Indonesia 2 Date 26-12-2022
Quotation # SCG-621226-R-1
Attn: - Mr.Nugi Customer D  OEMSCG-RL01
Quotation For: - GD Ball Mill Lining
Quotation valid until: 15 days

Delivery: 90 + days from Received DP & PO
Payment Terms: DP 50% and Balance 50% Before Shipment Prepared by: Shaik Marican

Email: mochamnu@scg.com

Comments or Special Instructions: LB Spare Part
GD Ball Mill 2430 X 8325M

This Special discount is Introduction Price

Salesperson Port of Ending Ship Date I Port Of Loding
SM CIF- LCL-Tanjung Priok -Jakarta ~Mar-2023 India 50% & 50%
usD UsD
Item # i Description Unit Price ‘ Quantity | Total Amount
1 Feed 16 Rows HLB-140x135 1 Spare set 36,043.62
2 Shell 24 Rows SLB-140x135
3 Discharge 16 Rows HLB-140x135
4 Fixing Details Included
Time of Delivery 8-10 Working Plus 4 weeks
2 Shipment from receipt of DP-Payment ) B
USD-Subtotal $ 36’043'62"
If you have any questions concerning this quotation, please contact; Tax Rate 0.00%
Others | $ -
Thank you for your business!
Best Regards HSR-TARAL $36,043.62

Shaik Marican

OE Mining Solutions Pte Ltd

Loyang Offshore Supply Base, Loyang Crescent, Blk 103 #03-07, Singapore 508988




C=

CLIENT

OE Miningg Solution Pte Ltd

: Pt.SCG Indonesia

Proposal :SCG-62121522-R
Ball Mill Size: 2.4 x 8.160m
INQ No: OEM-2022-004-BM-3

. Description

FEED END HEAD - 16 ROWS

7 LIFTER DL-140-135-610-30/45-29 OE-623919 16
5 SCREW, HEXAGONAL 1S04017-M16X300-8.8 |OE-627987 17
6 CLAMP BLOCK LONG M16 X 300-250 OE-622439 17
7 CLAMPBLOCK -L-M16-100 OE-620940 17
10 RUBBER SEALER 60/16-12 OE-628003 34
12 NUT, HEXAGONAL 1S04032-M16-8 OE-627160 36
SHELL LINING : 24 ROWS
15 LIFTER DL-140-135-1800-30/45-02 OE-627129 72
16 LIFTER DL-140-135-1320-30/45-02 OE-620129 26
17 LIFTER DL-140-135-960-30/42-29 OE-620646 22
18 LIFTER DL-140-135-650-30/45-29 OE-621129 2
19 LIFTER DL-140-135-805-30/45-29 OE-620648 2
28 |RUBUSHING 26\17-40 OE-625073 525
29 SCREW, HEXAGONAL 1S04017-M16X110-8.8 |OE-621085 525
30 CLAMPBLOCK -L-M16-100 OE-620940 525
31 ANTISANDSEALER 52/12-15 OE-621625 525
32 RUBBER SEALER 60/16-12 OE-628003 525
34 NUT, HEXAGONAL 1S04032-M16-8 OE-627160 555
35 SPWASHER 45/18-3-UNPLTD OE-620016 555
36 RUBBER CLOTH 1400x4000x6mm OE-622126 )
38 WASHPROTECTION -90-50-50 OE-626871 T2
HEAD DISCHARGE - 16 ROWS
2 LIFTER DL-140-135-740-30/45-29 OE-627474 16
5 SCREW, HEXAGONAL 1S04017-M16X550-8.8 |OE-625866 17
6 ML-CLAMPBLOCK, -M16X550-250-8.8 OE-625866 17
7 NUT, HEXAGONAL ISO4017-M16-8- OE-627160 34
8 CLAMPBLOCK -L-M16-100 OE-620940 1T
10 WASHPROTECTION -90-50-50 OE-626871 72
11 RUBBER SEALER 60/16-12 OE-628003 34
13 RUBUSHING 26\17-40 OE-625073 525




